Notes 8-3
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Show how to find the the length of the hypotenuse, x, for each triangle.
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A quilt has the design shown in the figure, in which a
square is divided into 8 isosceles right triangles.The
length of one side of the square is 3 inches. s

Show how to find the dimensions of each triangle.
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The top of the aquarium coffee table shown is an isosceles right triangle.
The table’s longest side, AC, measures 107 centimeters.

Find the distance from vertex B to side AC. Then find the lengths of the
other two sides. Round to the nearest tenth.
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a. Show how to find x.

b. Show how to find x and y.
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45°-45°-90° Triangle Theorem

Fill in the blanks.

Words In a 45°-45°-90° triangle, the legs / are

and the length of the hypotenuse h is
the length of a leg.

Symbols In a 45°-45°-90° triangle,
¢=¢ andh =
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Show how to find the the length of the hypotenuse, x, for each triangle.
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Show how to find the the length of the hypotenuse, x, for each triangle.
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Show how to find the leg lengths x for each triangle.
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30°-60°-90° Triangle Theorem

Fill in the blanks.
Words In a 30°-60°-90° triangle, the length of the hypotenuse h is
times the length of the shorter leg s, and the length of
the longer leg £ is times the length of shorter leg.
B
60° 2

Symbols In a 30°-60°-90° triangle,
h= and ¢ = . 05





